
INSTALLATION

Parts Included
1 Transmission Cover — Chrome
1 Hardware Kit Including:

3 1/4”–20 x 1-1/2” S.H.C.S. — Chrome
1 1/4”–20 x 1-7/8” Standoff Stud — Plain Steel
1 1/4”–20 x 5/8” B.S.C.S. — Chrome
1 1/4” I.D. Hi-Collar Split Washer — Chrome
3 M6 Flat Washers — Chrome

1 Installation Instructions

Please read and understand entire instructions before starting installation.

thank you for choosIng küryakyn!

In order to Protect you and others from PossIble Injury and/
or ProPerty damage or loss, Please Pay close attentIon to all 
InstructIons, warnIngs, cautIons and attentIon notes regardIng 
the use and care of thIs Product.

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE 
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR 
SERIOUS INJURY.

CAUTION! This indication alerts you to the fact that ignoring the contents described herein 
can result in potential injury or material damage.

ATTENTION! This indication alerts you to the fact that ignoring the contents described herein 
may negatively affect product performance and functionality.

tools suggested
3/16” Allen wrench, 7/16” Combination wrench, 3/16” Allen socket and Inch/pound torque 
wrench.

strIctly observe the followIng guIdelInes In order to use the 
Product ProPerly and avoId PotentIally dangerous accIdents.

Procedure
steP 1 Hold the cover in its approximate 
installed position between the engine and 
transmission. This will help you to determine the 
fasteners used in installation. See PIC.1.

-cont.-

fIts: ‘02-’06 flt models (road kIngs and dressers)

oIl lIne cover/transmIssIon shroud  8201

PIc.1

https://www.motorcycleid.com/kuryakyn/


InstallatIon

steP 2 Remove the affected fasteners using a 3/16” Allen wrench. The fasteners involved are the 
two Allen bolts in the transmission top cover closest to the right side of the transmission (seated on the 
bike), the Allen bolt at approximately the 3-o’clock position in the transmission trap door, and remove the 
entire STOCK oil line cover (located where the oil pump used to be on earlier EVO models).

steP 3 See PIC.2. Install the standoff stud in the forward-most location — directly between 
the two oil lines. Tighten to 84-108 inch/pounds.

steP 4 Set the cover in place and install all fasteners finger-tight. The 1/4”–20 x 5/8” 
B.S.C.S. with an M6 washer belongs in the lower right hand corner of the cover, two 1/4”–20 
x 1-1/2” S.H.C.S. with M6 washers fasten the top edge of the cover and the remaining 1/4”–
20 x 1-1/2” S.H.C.S. with the 1/4” Hi-Collar Lock Washer belongs in hole directly above the 
clutch cable. Once all fasteners are in place, torque them to 84–108 inch/pounds. See PIC.3.

Ride On!

Page

2
oIl lIne/transmIssIon shroud InstallatIon

PIc.3

PIc.2

Discover various motorcycle custom accessories and trim in our online store.

https://www.motorcycleid.com/custom-accessories-trim.html



